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Let’s try it again: | )
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POWER RULE: If f(x) = x", then f'(x) = nx™ 1.

Written briefly, d—i— (x™) =nx™ 1.

Special Cases:

d |
: E(X) = 1.

Note: Although we won’t prove this.
The power rules works for ALL powers
(including negative and decimal powers)
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SUM/DIFFERENCE RULE: %(f(x) +g(x)) = f'(x) + g'(x), and
= (f() —g@) = f'(x) — g'(0).
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r Special Cases:
COEFFICIENT RULE: — (cf () = cf'(x).
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Derivative methods so far:

1.

Expand into sum of terms.

Rewrite each term as: c¢x?.

Bring coefficients/sum along for

the ride.

Use power rule.

Simplify.
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